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FifE B - 5 F1074E05 A 218 a— k- R—)LEEINTIFT
NE 452 K % OUT | IN | GR | HDCP | NET JE 52 K % OUT | IN | GR | HDCP | NET IIE 5z K % OUT | IN | GR | HDCP | NET IIE iz K &2 OUT | IN | GR | HDCP | NET
B Tk 4% 32 | 35 | 67 0.0 | 67.0 51 AL & 44 | 37 | 81 4.8 | 76.2 101 {ZK R— 44 | 44 | 88 7.2 | 80.8
B FH ER 36 | 36 | 72 1.2 | 70.8 52 |imik A 46 | 41 | 87 | 10.8 | 76.2 102 |[#AK BERX 46 | 46 | 92 | 10.8 | 81.2

3 |IBHE kR 40 | 36 | 76 4.8 | 7.2 53 |HBA EE 42 | 44 | 86 9.6 | 76.4 103 |&# ##a 50 | 52 [102 | 20.4 | 81.6

4 |BEH VEH 42 | 40 | 82 | 10.8 | 71.2 54 |HZA H#BE 42 | 44 | 86 9.6 | 76.4 104 g 2 50 | 44 | 94 | 12.0 | 82.0

5 |mi% BRE 42 | 39 | 81 9.6 | 71.4 55 |BAX Hi— 43 | 44 | 92 | 15.6 | 76.4 105 | BN = 53 | 51 |104 | 21.6 | 82.4

6 &% 15 36 | 38| 74| 2.4 | 716 5% |EZ WA 4 | 41 ] 85 8.4 76.6 106 |/MF EXF 52 | 49 [101 | 18.0 | 83.0

7 A & 38| 37| 75 2.4 | 72.6 57 |l —R 44 | 41 | 85 8.4 | 76.6 107 |4 BAZ 50 | 51 |101 | 18.0 | 83.0

8 JIIT &= 40 | 40 | 80 1.2 1 72.8 58 |H#t IEA 45 | 40 | 85 8.4 76.6 108 |& ' 48 | 53 [101 | 18.0 | 83.0

9 |E#t BhE 43 | 36 | 19 6.0 | 73.0 59 Mg 87 44 | 53 | 97 | 20.4 | 76.6 109 | EE A 55 | 60 [115 | 31.2 | 83.8

10 |B&#H AR 45 | 40 | 85 | 12.0 | 73.0 60 | K#0 L 43 | 41| 84 7.2 | 76.8 110 ’EA EE 58 | 62 1120 | 36.0 | 84.0

1 [EE —= 45 | 46 | 91 | 18.0 | 73.0 61 |&dh BME 49 | 47 | 96 | 19.2 | 76.8 11 |BHE R*E 51 | 58 [109 | 24.0 | 85.0

12 &% —5h 47 | 43 | 90 | 16.8 | 73.2 62 |[RA X 48 | 41 ] 89| 12.0 | 71.0 12 |#%H# EF 57 | 60 [117 | 30.0 | 87.0

13 /X #5 37| 39| 76 2.4 | 73.6 63 |[L# SF 45 | 44 | 89 | 12.0 | 77.0 13 | KE 1#x 57 | 69 [ 126 | 36.0 | 90.0

14 |FE B 39 | 37 | 76 2.4 | 73.6 64 |KH #E 44 | 44 | 88 | 10.8 | 71.2 114 B0 EBX 65 | 64 [ 129 | 36.0 | 93.0

15 |BkE F= 42 | 40 | 82 8.4 | 73.6 65 =8 EF 45 | 43 | 88 | 10.8 | 77.2 115 |f)il FE5 79 | 65 [ 144 | 36.0 |108.0

16 |#8 % 45 | 43 | 88 | 14.4 | 73.6 66 % F— 54 | 52 |106 | 28.8 | 77.2

17 =ik W 51 | 49 |100 | 26.4 | 73.6 67 % FN 41 | 46 | 87 9.6 | 77.4

18 &% & 40 | 41 | 81 1.2 | 73.8 68 AKX T— 51 | 42 | 93 | 15.6 | 71.4

19 |+ F* 41 | 46 | 87 | 13.2 | 73.8 69 R #BX 40 | 46 | 86 8.4 | 71.6

20 /ME RI— 41| 39 | 80 6.0 | 74.0 0 9% = 43 | 43 | 86 8.4 | 71.6

21 BB k% 39 | 46 | 85 | 10.8 | 74.2 n & BF 41 | 45 | 86 8.4 | 71.6

22 BB = 47 | 44 | 91 | 16.8 | 74.2 2 |TH F- 48 | 43 | 91 | 13.2 | 71.8

23 BB RmE 43 | 47 | 90 | 15.6 | 74.4 355 B 46 | 45| 91 | 13.2 | 71.8

24 HTE 25 49 | 46 | 95| 20.4 | 74.6 4 Bl FX 48 | 43 | 91 | 13.2 | 71.8

25 [ZEH BX 43 | 39 | 82 7.2 | 74.8 5 | = BES 49 | 48 | 97 | 19.2 | 71.8

26 Efn ¥ 49 | 45 ] 94 | 19.2 | 74.8 16 | A FH 51 | 46 | 97 | 19.2 | 71.8

27 |WeAX —p 42 | 39 | 81 6.0 | 75.0 7 BE A= 43 | 41 | 84 6.0 | 78.0

28 | bR #EF— 41 | 40 | 81 6.0 | 75.0 18 BEE IE 41 | 43 | 84 6.0 | 78.0

29 BT ®A 41 | 40 | 81 6.0 | 75.0 9 7% ¥5H 42 | 41 ] 8 4.8 | 18.2

30 =¥ Ris 41 | 40 | 81 6.0 | 75.0 80 A IEM 51 | 44 | 95| 16.8 | 78.2

31 |EE H# 41 | 40 | 81 6.0 | 75.0 81 |FAH IEA 52 | 49 |101 | 22.8 | 78.2

32 HE B2z 46 | 41 | 87 | 12.0 | 75.0 82 |&HI EX 47 | 41 | 88 9.6 | 78.4

33 B/ R 39 | 47| 86 | 10.8 | 75.2 83 |JIIA IERE 50 | 44 | 94 | 15.6 | 78.4

34 BAX BT 47 | 39 | 86 | 10.8 | 75.2 84 |BHF M5 48 | 46 | 94 | 15.6 | 78.4

35 |Th— BH 45 | 41 | 86 | 10.8 | 75.2 85 |/ == 42 | 45 | 87 8.4 | 18.6

36 gl ZEEE 38 | 411 79 3.6 | 75.4 86 |IuN # 49 | 50 | 99 | 20.4 | 78.6

37 BB HRE 39 | 40 ] 79 3.6 | 75.4 87 & #H 47 | 45| 92 | 13.2 | 78.8

38 |BA & 42 | 43 | 85 9.6 | 75.4 88 |&H %= 47 | 45| 92 | 13.2 | 78.8

39 BAX H#HE 4 | 41 ] 8 9.6 | 75.4 89 R F 46 | 45 | 91 | 12.0 | 79.0

40 3RAJR— 42 | 43 | 85 9.6 | 75.4 90 EHR E= 46 | 45 | 91 | 12.0 | 79.0

4N BE BT 46 | 45 | 91 | 15.6 | 75.4 91 & =# 51 | 51 [102 | 22.8 | 79.2

42 [l JE= 47 | 44 | 91 | 15.6 | 75.4 92 BN = 44 | 39 | 83 3.6 | 79.4

43 | #B 46 | 51 | 97 | 21.6 | 75.4 93 |l E— 50 | 51 [101 | 21.6 | 79.4

4 FR A 40 | 38 | 78 2.4 | 75.6 94 /NEF EiA 51 | 49 100 | 20.4 | 79.6

45 Bl FX 38 | 40 | 78 2.4 175.6 9% BER X 46 | 41 | 87 1.2 1 79.8

46 |)EHh B 41 | 43 | 84 | 8.4 | 75.6 96 AE = 43 | 44 | 87 7.2 1 79.8

47 RO fg— 45 | 45 1 90 | 14.4 | 75.6 97 /M RER 43 | 43 | 86 6.0 | 80.0

48 Eil =ER 43 | 40 | 83 7.2 | 75.8 98 | EH JERER b5 | 48 [103 | 22.8 | 80.2

49 |%H B 44 | 39 | 83 1.2 | 75.8 9 AKX =E 45 | 45 | 90 9.6 | 80.4

50 |5BPE EREA 46 | 43 | 89 | 13.2 | 75.8 100 |#F11= = 47 | 49 | 96 | 15.6 | 80.4
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